Felzt.

S

AN B9 AHE T

N
<

ol

ot

_11’ ) _76, 0,
9

o] §jBg 57} ot 1Bz J4

— N

2ol

¥
o]

o)

%"]‘3}. UHz=

1
7/_\]—‘% §9 - 7.6,

whaba] 4 7o)k,




F A4 a, b AUl ZA BOTE AR W]l ot F 59
A7t12 4 W, F 4 a, b5 FEHREY

(F,a>b)

> E.

> =

> e a=6FE+6
> HE b=-6

B )

doigto] 21 7371 M2 RiHQl & 9 o= RE | A7t

2o T 59 A7t 12 01 oz gxdo gl A} 6 |t
oltf, a > b °|BR g = YH S 7|EOR QEZOR 6 W
ol%E%t +6 o] b = JZ*" NELR AZ o= 6 TF o]FF7

—6 o]t}
w2hA] @ = 6, b= -6 ©] T},




9  @o

-10 < x < 9 & WE55h= A5 x 9 =S T2 oHH?
® -8 @ -9 ® -10
,7,8,9

_9 , _8,_7 o
W5 HsHA 0




4. 4<2x < 8% H] A2

ONE @ 171 ® 27K @ 371 (@)47H

4<2x <8, 2<|x<4
2<|d <49 AE5E= -4, -3, 3, 4 O[T},




col o
IA
=
A

[\l ep}

A uf B4 x e BEE A

@ 70 @ 671 ® 571 @4711 ® 371

x=-1,0, 1, 29 47}




2--+2-4
®1 35+57

S Y
O35+t

@ -7-28+49

@281

® -75+4.5-3 = (-6)
@ -7-28+4.9=(-4.9)

1 3 (26)
9 to-4=(-=
® 3+5 15
3 5 1 12-9+10-1
Ol I+ =" 1 -
1 5 7 4-10+7-30
O3-t 2¥5=—17 —
_(29)
—\ 12




7.

o2 AAtstd?

15— [6x{(=3)2 + 5} + 23]

@-7 ©-3 0-14 @®-9

~&B

15— [6x {(-3)2+5} + 2]
=15-[6x {(+9) + 5} + 8]
=15- {6 x (+14) + 8}
=15- (84 +38)

=15-92

— 77




3+
1—[%+(5+{—6 +7}}x\:|:16
{%4‘ 5)}><D 16




zé—xyoﬂtﬂo]-oqx_,]zq 7+e 6, y ol

o0 @1 @0 @ 5

B

x=46,-6, y=+9,-90| &
X - y’qqdmo ( 9) = +9:15

webd g = 15, b = -15 ©|th.
La+b=15+(-15) = -




18 + 0= 7 ()

B

| ul
0

A A




